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2.AELBAETI=ZAZBHFTEAMNE—TK_KF
B:(1) REXTR; (2) REF-ITRAE;(3) RABEI BB
MARBR 2.

39— BN —BER, -4t —-T KB
TR ax® + bx + ¢ = OB, HKP o £ 0, I HHF
MoRKIEB, —KAABMEETm.

4. — TR BBR—BIEXIERILHER:

ax* +bx =0 (a#0,b6%#0,c=0)

az’+c=0 (a#0,b=0,c=0)

ax* =0 (a#Ob—O,c#O)
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+c¢=0(a #0),FRERMU PR _RARE . —KHAR

BABEI; —RARBNAREIE.
MRERERME L T _RKFBH -RIARK. —K

TABEHR, AR ERNHRS, LR RN T BROKE.

W1 FRNER R-ToANEME ()
(A)f—z-—3x—2=0 (B)ax2+bx+c—= 0.

(C)(z +4)(z =2) = 22 (D)(%—x ~1)(6z+1) =0

f&:(D).

] AR FBEXEAESAEE:O BN,
QO EFE-ANRAE:Q RABMHBBKRER 2. e X, T
HE DRIEBY.

FRar’+bx+c=0RBYa %0 ABMNE—T K
FB,%a=0,bA0HRRE—T—KFIE. MR ax? + oz +
c=0R—TLZRITE,BR—CEBEY a # 0 XA,

B2 HEHBHB(y+8)=4y+Qy-1)bR—FT=
KFBRW—-MEX, 8. .ERMZRKIEHK a =

—RIARK b = JEROT ¢ =

#: 3y° - 16y - 63 = 033, - 16, - 63.
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2. #'JB?"FF'J?‘J‘E;%E%B&? z H—TT_RF &

(1)52% = 3;

2)z* = 0;

(3)bx + 5% = 8;

B mzx + m?*z = 7;

(5)V52%2 - 8 = 3z;
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3 1 2
(6)——1— =3
(Nz*-27 = 0,
(8)(m —3)z® + 4z _'_«/_23 = 0(m #3); ( )
(9)[2 2 B z+1=0; : ¢ )
(10)a( )+b( )+c—-0(a¢0) ( )
3.—-71:_.{405‘Eax + bz +c =0(a #0),3P ax? Ml
s a M 3 b Y48 3 & W4 3
c MM oo TR B¥a R ¥
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4. KB4z +3)(2z -5) = 28HH—BEAN IR,

A (BR-RFRBRIEX), béﬁg&ﬁiﬁé
T RIRYR_ S HBIR
sME:
B ZHHRY | —BTRK | R
a1,
':2;—12*::=0

5(z+6) = 22

z? =202z -1)
(z~-2P2-4=0

221 -7=0

3z2=0
(y=22+7y-2)+12=0
3(x - 3)? - (z+3)?
=2(x -5z +1)

Ty(y+3) =2(y+3)

6. L

(1) =K F B -5z +16x +3 =0, B_RARHEN
1E§St HEFBHBRAENR ( )

(A)5z2+6x+3=0 (B)5z2 -6z -3=0

(C)5z*+6x~-3=0 (D)5z°> -6z +3.=0

(2) FR(z -V3)(z +43) + Rz + 1) = z - 2 BB
pis ( )
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G)RIBIRB ax* +bx+c=0F,b,c ZPE—ITRZ
ﬁgﬁﬁ“qﬁlxmé—ﬂn—lkfﬁ Fi’l?fﬁ%*%é—-m_&

mnﬂz-%)=3
(B)5z2-z =17

(©OQz)?-(z+1)*=0
Mz -3(x+2)(z-2)=0

1.% g BT 2 HBEG-a)zt—22—1=08
CR—KHR,a B, ER R R TR,

2.8 -1z - (a-1)z+1=0,%a R B2
—i:lkﬁﬁ,i—’! al B R—IT—K .

3./10(z + 17 = VTi(z -/ 1) -t socm

R¥HR__ WA BBy
4. THXRTFzHHTBRP, 5= Wli?ﬁi&\-—vmi
B % BOW. ‘ RSN
(Naz* +2bx+c =0 (a#0) \ ”":”ﬂ&’??
Qx>+ px+¢=0 S B
(3)a*z? —2abx + b* = a*(a #0) : ) f

() (z=a)-b=0 . e
- (5)3-m + pPx — px? = 0(p #0)
(6)(m — x)* = 4(m + z)?



12.2.1 —TZRFBREME(D)

HEEFTEM— T _KATBRBI RO F LT EM L
M, EBATARRE—TK_KIR ax’+ c = 0(a #0),az* =
0(a #0) B(x + h)* = m BNER. _

1LER—TE R I B az? +c=0(c #0) HEEZ a.c B9
#s.

@a,c 60 - £ B—ER A BATLEM,
HABRE MK, BP
ax?+ ¢ =0,(a #0,c #0)

ax* =-c,x -',,/—'c‘ x ——-4/-—‘9
s L] a 2 a

Qa,c A58, B4 —f%——’?‘ﬁﬁ, B 5 307 K B

ABREFLITR, U BERE LHAR.
2AREZRAR ax? = 0(a #0) M.
i BRaF 0, T BEAAMEL e, B2 =0, BRRE Y« =
. DB, XA BB, Bz = 0 & ax® = 0 BB,
Y RBREREUNKITEAR Mz = 0, REBR
‘é ’f“ﬁ Xy = 0,-‘62 = O(ﬁgﬁ; I = I = 0)
' 3.(z+h) = m(m=0) B BOERE.
BMRYNFTHEREF TR, XEAIRETHEE
T OB — BT B EHERT £+ b BR— R




BERAR¥STERER(z + 1) = m(m =0) REHHTRE.
o 2 0 o] TE B R AR F IR S AR, R R BB A
HOTR.

$11 THREIR, ERKE ¢ )
(A)z*=-7, =z =tv-7
B)(z-1)=4,8 z-1=2,z=3
(C)z* =78 z=%\7
(D)252% = 1,8 25z =+1,z =+1/25

#:C '

(497 REBEAFFRBN—T KBNS R: TR
B—ARKR DB —RIW T, B—AREAEH, BAARE
EHHEEREENFEHR, FU—BEE, REX b =08,
B2 = b A AREIRERAR, EBNTFHRARD, EMNLR
—SHHERE, E (2 - 1) =48f,z - 1 =+ 2; BARFTHIE
¥nt, AHEREETHRENELL.

B2 mHE.46z-7)7=9.

B ERMAREREL 4,18

awsx—7%9/4m¥ﬁm,musx-7=¢%,ap
3 e ,__3
6x—7—2,:£6.z 7 = 5 -

17 11
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3. FEEF R THI I B2 O B I 1R
(1) R 2? = 121 % A RBFREARNR;
Q)R 2* =12 | EEEREEANR;

(3) R(z +3) = § ERBHEAHK

(4) R(z - 1)? = 2 R BHEEALR;

(5) R(z +V2) = 2 EEBHE AR

4. FTHHFBREEESANE,  BEREHR?

(1)x? -5z +6 =0(1,6,2,3);

(2)z2 - (1 +V5)z +45 = 0(1 +V5,1 =V/5,1,/5);
(3)9z% - 15z + 4 = 0(1/73, — 4/3, — 1/3,4/3);
(4)2(4r —3)? = 32(-1/4,7/4,1/4, —7/4).
SHEEFTERTHENR:

(1)z? = 169; (2)z® - 225 = 0;
3z +1=17; 4)? = 2—‘1“;
(5)2* = '525574; (6) -:1;4:2 = 75;
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(Mz? = 11; (8)x* = 2.
(10)7z* = 3;

(12)2(¢)* = 3;
(14)522 -1.6 = 0.

(9)5z* = 4;

(11)(3¢)* = 4;
(13)3z22 -z = 15— z;
6. HEBATEMRTH - KT E:
(1)3(zx - 2)? = 0;
(3)3(z -2)* -4 =0;

(5) Lz -12=8;
(DH(x+0.1)(x—-0.1) =0.24;
(8)(z +V5)(z —5) = 20;
(9)(2z - 1)* = (1 +42)%;
(10)(V2z - 2)% = 12;
(11)V2(6 - z)* = 128V2;
(12)V2zx +43)? = 27;

(13) V5(z —V3)* = 3V5;
(14)4(/3x +V2)? -8 = 0;
(15)z* - V625 = 03

(16)4.3 — 6% = 2.8.

1. %0 =08, 78 22 = a KRR

Hb6=08,58(z-a) =bHER :

2. BRI
(1) MEWM(x + m)* = n HFR

(A) BUTLUHEBEF R, Bz =+Vn

(2)3(z -2)? =1;
(4)2(y —3)* = 72;

(6)6(2z —1)* -1 =0;
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B)Y n>08 , MAUAHEEF T ER®R . H = =
tVn—-m
C)Yn=>08, MILUHEERATERBR . Bz =m
+vn
DY n0n  MUTLLHEEFTERR B = =
*vn—-m
) MBHRB pz* -5z +q = 0Wﬁ%—1ﬂ%,ﬂﬂp+q
A {H 2 ( )
A)-9 @®B-5 (©4 (D)9
(3)222 + 2 = 2 PRI B R )
An4t (B)2 1 O34 (D) XEHE
3. HEHBERFER TSN R
Dz +2)(x—-2) = 3;
(2)(2z - 1.5)* = 6.25;
(3)W7 -V3z)? = 6;

(4) %(x +2)? = %(3;5 +1)?%;

(5)(z -2)2-9(x +1)* =0;
(6)(x -5z +3)+(x-2)(z +4) =26.
A FAHEERTERTHIXT = stiﬁ

(DL = 5(a >0);

(2) = = 2a(a 5 0);

(3)(ax — 8)? = a*(a #0);

(4)(m - z)? = 4(m + ) (m #0);
(5)z% - dax + 4a® = b%;



